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cos 225° = —cos45° =
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tan 330° = —tan 30° = =T
1

—60°) = 60° = =2
sec( ) = sec o5 60°
1

t ° — t = =

cot 210° = cot 30 an30° 3
1
120° = —sec60° = — ——— — —

sec sec o5 60° 2

cos 660° = cos 60° = 1

sin(¥) = —sin(%) = —123 22. cos(Z) =cos(}) =1
tan(¥) = —tan(Z) = _ﬁ = -—ﬁg 26. csc(¥F) = —cse(Z) = ——Tsml%) ==
cos() = cos(%) = —\}—5 - 30. sin(4f) = —sin(f) = -1

Since both tan § and sin 6 are negative, 6 is in quadrant IV.

Sincecscd >0 = sinf > 0and cosf < 0, @ is in quadrant II.

cosf = 172 Since § is in quadrant III, y = —1/12%2 — 72 = —4/95, and so sin§ =

Vo5 _12 _12 1
tand = 7> Cscf = \/E,SCCB— ,cot0—\/§g.
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